Multiplier par des puissances de dix ( nombre
manquant )

6,472 x

9,753

9, 568 x

6, 894 x

3,146 x

3,5 %

3, 869 x

8,055 x

8,335 x

=790.9

=64.72

=97.53

= 95.68

= 68.94

=31.46

=350

= 386.9

= 80.55

= 83.35

4,983 x

6,377 %

9, 109 x

3,625 x

9, 585 x

8,503 x

7,904 x

4, 688 x

9,156 x

4,98 x
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=49.83

=63.77

=91.09

= 3625

= 95.85

=850.3

=79.04

= 4688

=915.6

= 4980

Note:
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Multiplier par des puissances de dix ( nombre
manquant )

7,909 x 100 = 790.9

6,472 x 10 = 64.72

9,753 x 10 =97.53

9,568 x 10 = 95.68

6,894 x 10 = 68.94

3,146 x 10 = 31.46

3,5 %100 =350

3,869 x 100 = 386.9

8,055 x 10 = 80.55

8,335 x 10 =83.35

Date: Note:

4,983 x 10 =49.83

6,377 x 10 = 63.77

9,109 x 10 =91.09

3,625 x 1000 = 3625

9,585 x 10 = 95.85

8,503 x 100 = 850.3

7,904 x 10 = 79.04

4, 688 x 1000 = 4688

9,156 x 100 =915.6

4,98 x 1000 = 4980
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